——
N = 0] &F AF S & AN A
ST OASIR 2R D
M AR EE(AMIIEXN/S)
e Al HAM 43 K& (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AFS = A H 2t 17,242,886 17,266,234 A 23,348
= 3,798,000
g 7,249,000
= 6,195,886
X HE(AMIEXN/=S) 16,472,437 16,841,308 A 368,871
= 3,798,000
= 7,249,000
o 5,425,437
ASIHAH 43 K& 16,472,437 16,841,308 A 368,871
= 3,798,000
g 7,249,000
o= 5,425,437
AMSHAM |4 JlEt2= 583, 100 883, 100 A 300,000
201 YEt2 bl 7,000 7,000 0
01 AP 2t 2] d| 7,000 7,000 0]
OMIEHAFAHNEH 29 7,000
202 04| 6,500 6,500 0
01 2Ll 6,500 6,500 0
OMSIEAHM =4 6,500
307 gizto| A 539,600 639,600 A 100,000
02 QI2tAAMAIE E =X 539,600 639,600 A 100,000
OMSEAH WERKZ 23 21,600
OTIEXNS st 'dIARN 229 120,000
OZ0tIl= e EE 'Ot 012 'e2dy 25,000
OASIEAM F=2+01E stote & A 23,000
OAZ HAMI Y S&ECHE AEzs HALE 70,000
OMBEAM XA HEYH 29 100,000
OAIZHAM HFUEZEY FHXI ZTS2HE 100,000
OASIHAM O L%H ZTZ ) 50,000
OMSEAM E2 - 0IHE f&F 45 30,000
403 XX SHHS K20 & 30,000 30,000 0
01 XIS A=Z2E X 30,000 30,000 0
OAZEIM AEDY &4 30,000
AMSIHAMEE 43 =& 901,300 820,000 81,300
307 QI2t0| ™ 901,300 820,000 81,300
05 QIZtREZ 901,300 820,000 81,300
OAMZIHAMAIAMEH 2 901,300
23T AL EFEH 2EE O E 300,000 200,000 100,000
201 gBt2Ad| 300,000 200,000 100,000
03 A2 G HI 300,000 200,000 100,000
OM13 2T AISIEAHM 23 N 300,000




A ARSI B Z M

M AR EE(AMIIEXN/S)
e Al HAM 43 K& (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
23T AISEEH SEHEYNHAE = 100,000 0 100,000
207 A SO0 | 100,000 0 100,000
01 4| 100,000 0 100,000
OHM2A L3 AMIXHAM SESLEAHE 100,000
LA AN EAN SEAMEIR X4 EBEIY A XA 100,000 0 100,000
207 I | 100,000 0 100,000
01 | 100,000 0 100,000
OMSEHAN SAEI2 X4 EIEHE XZA 100,000
HELEHEUA S45 XA (2IIREHIH) 71,710 369,290 A 297,580
307 QI2t0| & 71,710 369,290 A 297,580
02 Q2B AMAIE E =X 71,710 369,290 A 297,580
OHFLIEIHIZLIA 243 AJAY 71,710
M EHAHMSEALZAIY (22 EH L) 248,000 0 248,000
307 2I2t0| & 248,000 0 248,000
02 QI2tAMAIE E X 248,000 0 248,000
OMSEAM SMHE XS 248,000
AMSIEDIY S4H(LX2IEHE)(Z1D) 6,154,500 5,834,500 320,000
Fag 5,770,000
& 384,500
308 XAHXIEHMSOIA 6,154,500 5,834,500 320,000
= 5,770,000
== 384,500
01 AIXSHMEMNEX= 6,154,500 5,834,500 320,000
oLl EHEAMH 6,154,500
Fag 5,770,000
= 384,500
MY S (ALY )(=21) 1,229,600 2,041,142 A 811,542
= 1,076,000
= 153,600
308 XAHXIGH SO0l & 1,229,600 2,041,142 A 811,542
= 1,076,000
& 153,600
01 AXHHNIMNEXTS 1,229,600 2,041,142 A811,542
OASIHEH] KIS AFS 1,229,600
= 1,076,000
= 153,600
A EIY SH(MYINEH-XIFEF)(21D) 404,000 251,429 152,571
= 335,000
o= 69,000
307 212t0| & 230,000 121,429 108,571
= 161,000
= 69,000




2N

ALl & 3 T o

H: dqel BE(MIA=EX/S)
el M EEH 2438 KR (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It M AHE L 230,000 121,429 108,571
OXNIEsAS (2H) 230,000
= 161,000
< 69,000
308 XX EHH SOl A 174,000 130,000 44,000
= 174,000
01 AXHHILEES 174,000 130,000 44,000
OXSEGAS(II=x) 174,000
= 174,000
ABIEDIIY SH(MIBEZ)(=212) 368,000 528,000 A 160,000
s 345,000
< 23,000
308 MtXIEHMSOIH 368,000 528,000 160,000
s 345,000
< 23,000
01 AXSGHBAELS 368,000 528,000 A 160,000
oM EE= XN& 368,000
s 345,000
< 23,000
MIEIY 4 135,000 135,000 0
201 LBt2E| 10,000 10,000 0
01 At 22l 10,000 10,000 0
OMEIEIIY 28 € g8 FJX 10,000
202 (44l 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
OAMEIADIIY E4 5,000
403 MHXSHHSA=0l& 120,000 120,000 0
01 X SHMA2E X 120,000 120,000 0
OAMSIEIIY AlEHl XA 120,000
0221 s4(=21) 455,000 455,000 0
as 350,000
< 105,000
308 XXM SOIA 455,000 455,000 0
as 350,000
= 105,000
01 IXNHHBMNEES 455,000 455,000 0
onsJly s4 455,000
s 350,000
< 105,000
0IS01g |84 175,000 175,000 0
201 Let24d] 10,000 10,000 0
01 At 22l 10,000 10,000 0




AR ESE==DA
M AdXel = ( talsx/=s)
S A EEN 2493 A

o 4
SA BB O () - HEAY - BAS ol &k o8 %@ﬁ HD=2
onSJ1g 88 L AIE22 10,000
202 o4l 5,000 5,000 0
01 2L HI 5,000 5,000 0
o027 88 L At=22] 5,000
307 2Iz2t0| A 130,000 130,000 0]
02 QIZHEAAIRE E X 130,000 130,000 0
onsJ|Iyg - 8=sX8 kg 130,000
308 XAHXIGH SO0l & 30,000 30,000 0
01 AIKISHEMNEXZ 30,000 30,000 0
OLEETE HylotSIIY &4 30,000
OISy 248 s X (=21) 548,000 400,000 148,000
Fag 274,000
= 274,000
307 QI2t0| & 548,000 400,000 148,000
Fag 274,000
= 274,000
02 A2t AMAIE E =X 548,000 400,000 148,000
oarElIg 24 HEE S X2 548,000
Fag 274,000
= 274,000
gas1g g4d3 A& 6,000 408,300 A 402,300
201 £Bt24 | 4,000 5,600 A 1,600
01 A2t 2| bl 4,000 5,600 A 1,600
O8EsSXe A8 & B8 4,000
202 04| 2,000 2,700 AT700
01 2L Hl 2,000 2,700 AT700
O8sXg Dt 2= 2,000
NEHM &-d3 IR H 1,315,227 1,220,547 94,680
201 et 1,215,000 1,193,000 22,000
01 AP 2t 2] H| 1,170,000 1,148,000 22,000
OMERH RE+8 L EE S 1,170,000
02 E2=2=2%H| 15,000 15,000 0
OAZEH EHOIXN AIEE 22 £ SIAEf 15,000
03 Al HH| 30,000 30,000 0
OYAMNER ESAH FX 30,000
202 o4l 15,000 20,000 A5,000
01 2Ll 15,000 20,000 A5,000
ONEH K =4 15,000
207 A3 IH | 80,000 0 80,000
01 g EAY| 80,000 0 80,000




A ARSI B Z M

. ANl BEANIEN/ES)
S AMZEHANM 243 X (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OZJLEAH JHEL =4 80,000
301 LPEXF 5,227 7,547 A2,320
0B A =RQABAZ 5,227 7,547 A2,320
OA=ERRIBAZS(1Y) 5,227
ANAMBAEH LIS (21) 817,000 0 817,000
= 817,000
308 XX EHHSOIA 817,000 0 817,000
= 817,000
TAXNEHBEEXS 817,000 0 817,000
OXNGAZASH LA A 817,000
= 817,000
ANSENEE 28gH32 =4 £ 2Y(=1) 2,041,000 2,600,000 A 559,000
= 1,570,000
< 471,000
308 XXM S0 A 1,570,000 2,000,000 A 430,000
= 1,570,000
01 AXNSHHBLAEES 1,570,000 2,000,000 A 430,000
OXNGNFE AS8HZ2H 29 1,570,000
= 1,570,000
403 XIS E X201 H 471,000 600,000 A 129,000
01 AXSHMA=2EE 471,000 600,000 A 129,000
OXNYGNEE A3 =4 471,000
KNG AsE 435 I8t =4 (=2) 500,000 500,000 0
s 500,000
403 UM E X201 H 500,000 500,000 0
s 500,000
TAXEH A= X 500,000 500,000 0
OXN<ZEAS &3 32t =4 500,000
ras 500,000
ANAAE 28 L LGS Qs AR2EH(2) 20,000 20,000 0
s 10,000
< 10,000
207 Ao 2| 20,000 20,000 0
s 10,000
< 10,000
01 A EAHI 20,000 20,000 0
OXSAte 25 ¥ FA22ASE 98 H2ESA 20,000
s 10,000
< 10,000
LA §35Y AE(ZELANYGMNL/NALZ Al 728,000 388,000 340,000
N DAY= =T 728,000 388,000 340,000
A tESEsH SOl 128,000 388,000 A 260,000




AN ARSI A Z T

o YU HBSY FS(FELNANL/NALEA)

Shl: XXX & 25 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

201 Le-2d| 25,000 25,000 0

01 At 22l 20,000 20,000 0
olts2sHAY 22XA S 20,000

02 2324l 5,000 5,000 0
O0=2t=7 N3RS 2| 5,000

202 OHl 3,000 3,000 0

01 = LH YI 3,000 3,000 0
Olt=ZsHAY HRF2 3,000

308 XXM SO A 100,000 360,000 A 260,000

01 IXNHHBNEES 100,000 360,000 A 260,000
olt=ssHAHH XI& 100,000

Z2EE DISSSHEEXNJEH 2 600,000 0 600,000

308 X XIEHHSOIA 600,000 0 600,000

10 BN 2SUHUEEAHEAE A I 600,000 0 600,000
OL3LE NISEsSHESENAEH 29 600,000

HE2AZH (AL HZ M ) (D1 EHDIIEH) 42,449 36,926 5,523

Jl23&dl 42,449 36,926 5,523

EM2Y Jl2d8l (AtSI H G H 1) 42,449 36,926 5,523

201 2et24d] 28,589 24,326 4,263

01 At 2teltl 28,589 24,326 4,263
ORA2Y AtR22ltl 28,589

202 O4dl 10,260 9,600 660

01 =S LHAYI 10,260 9,600 660
ORM2E =U0H 10,260

203 YR =& 3,600 3,000 600

04 NI 3,600 3,000 600
©202! Olot 300,000& +12& 3,600




